MODEL 777 OCTAL VARIABLE GAIN AMPLIFIER

( Front Panel Description )

%
5

4

Standard, #1 NIM Packgling
in qccprgelnpe withs ﬁg%
TID-2@893 * -

Linear Input s
50 ohms Direct Coupled T

LOne Pair of Bridged Outputs per

Channel; Each Capable of Deliver-
ing -3 Volts across 50 ohm Load.

Variable Gain Control ;
I5-turn Screwdriver Adjust-
ment; Gains of 2 to 50 range

\OUTpUT DC Offset Control per

Channel; 15-turn Screwdriver
Adjustment; Variable over * [0mV
Referred to the Input.

Test Point Provides Eosy/

Monitoring of Output DC
Offset.

Voltage and Current
Requirements.




g

FEATURES
* Wideband - DC to 200 MHz
* Variable gains from 2 to 50
* Low nolise performance
* Excellent DC and gain stability
*
*

The Model 777 is a high performance, variable gain preamplifier with eight chan-
nels in a single width NIM module.
producing negative output pulses from DC to over 200 MHz,
panel adjustment providing non-inverting gains from two to fifty and furnishing two
outputs, each capable of driving 50 ohm loads.

INPUT CHARACTERISTICS

Impedance

Protection

Wideband Noise
Input Offset Voltage

Overdrive Recovery Time

CUTPUT CHARACTERISTICS

Type

Output Voltage Swing

Cutput Protection

Offset Voltage

GENERAL CHARACTERISTICS

Gain
Stability
Linearity
Bandwidth
Risetime
Crosstalk

Input/Cutput Delay

MODEL 777 VARIABLE GAIN PREAMPLIFIER

Eight channels in a single width NIM
Inputs and ocutputs protected

"

-
H

»
.

Power Supply Requirements:

It is designed to directly operate with detectors
Each channel has a front

50 ohms +2%, reflections less than +4% for 2 nSec input
risetimes.

No damage to the input stage will result from transients
of +100 Volts (+2 amps) for 1 uSec or less duration.

liess than 25 uVolts RMS, referred to the input.
Less than +300 uVolts.

Less than 15 nSec for a 1 Volt input.

Two bridged; Veltage socurce output stage, each output
capable of driving a 50 ohm load.

Greater than -3 Volts across 25 ohm leoad. +.5 Volts
across 50 ohm load. +.25 Volts across 25 chm load.

Outputs can be continuously shorted to ground without
suffering damage.

A front panel 15-turn potentiometer allows control of

+10 mVolt referred to the input to compensate for offsets
due to ground drops or source impedances other than

50 ohms.

Variable from 2 to 50, non-inverting.
+10 uvolts/°C, referred to the input.
+.15% to -3 Volts, DC to 100 Miz

DC te 200 MHz minimum, 3 db point.
Less than 1.8 nSec.

Greater than 60 db, DC to 100 MH=z.

Typically 4.5 nSec.

+12 v @ 150 mA
~12 V @ 150 ma

+6 V @ 320 mA
-6 V @ 320 mA




MODEL 777 Amplifier QUALITY CONTROL CHECK-OFF

DATE: ozlc{ﬂi( SERIAL NUMBER: ']‘7‘15

CKECKED BY: !\/m;ana ECO LEVEL:

HODIFICATIONS: !

TESTS CHANNEL # ] 2 3 b 5 6 7 8 Units

Initial Inspection v 7 L//’ »/// V// V//’ L/// V//
Input to Qutput Response v// »// V// v v v// Vol
Output DC Offset Trim v v// 7 v VR v// »//' mvolis
Galn of 50 Check ho.3 | 5o.% | 53 |Ro.3 | Ra 6l Fo.3 | Ro.i| Fo.g
Gain of 2 Trim K00 |1 R:0011.%2 |90 [Rop[1.%89 | 2 00
Burn-In v// V// V// v// v// b// \//, L//
Verification V// V// v »// L// \// v// b//
DC Gain Trim v s vl vl v
Fast Gain Trim v v 17 o b// v v v
Pulse Overshoot Check v v vl S S ‘//’ v 1o |2
Risetine Output 1 19 11g (18 118 {18 [ 1% |1g [ g [nsec
Risetime Output 2 1.7 }gf |-€ 1.¢ [.€ [-¢ \_K ]_K nSec
Falltime Qutput 1 |c{ \q 32-0 2-0 R0 | R0 Q-O CQ_-O nSec
Falltime Output 2 1.9 [.9 .0 3.0 20 IR0 {30 lao nSec
Wideband Noise Check v’ V// v’ ol \/// v v | mvolts
Crosstalk Check v VIV v v v
DC Offset Check VIV IV SV VL

Alignment Check

Cleaning

Final Inspection

SN RN




Ry

A3
oy I Alg i —
ceq I
R P
+
=<
i
—_ D3
RZ0O
+v ]
Ra 2
ANN~
3
RIS [ [ ] oo e. oo [ oemerin |
PAHYS LIST
Re T [ ‘
/L TOLERANCEA ARE: PHILLIPS SCIENTIFIC MODEL# 777
FRAGTIOME w :unu! -
pa— : e APPROVALE DAt
—_— MATEMAL -

1“""‘0.1-. 11}6/84 SCHEMATIC

CHECKED rera

o [TF. ) | FECM NO. WG, NO. 2387 lév.

DO HOT SCALE DRAWING ICALE ] ool jwerr 1 OF 2




B27

+ v

R3i

+v

AV Yot
forT 4
z k12
T =
- ’ c I+
L
Vg 3
O > . YYY Lo
ces I- RIB Ld
+ il VAN
— —0
- c2y -
EA SN e |
PARTS LIST
UNLEAS OTHERWEE SPECHMED CONTRALT WO,
Torknances Ay PHILLIPS SCIENTIFIC  MODEL# 777
AT A o
) axy APPRVMS oATE
AT WAL GT. 11f6/84 SCHEMATIC
Rt e SIZE | FACM NO. DWQ. MO, 2388
DO NOT SCALE DRAWING BCALE | 108 [sueer 2 OF 2




PARTS LIST -

Ident.

Rl

R2

R3

R4

RS

R6

R7

R8

R9

R10
Rll
R12
R13
R14
R15
R16
R17
R18
R19
R20
R21
R22
R23
R24
R25
R26
R27
R2B
R29
R30
R31
R32
R33
R34
R35
R36
R37
R38
R3%
R4Q
R41

Cl1
c2
Cc3
C4
C5

Qty.

8
8
8
B
8
8
8
8
8
8
8
i
8
8
8
8
B
1
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8
8

= -]

Page 1 of 3

MODEL 777 ECO No. 1001
Part Number Description
006551R1 51.1 ohms 1% RN60D
00102401 2.4K ohms 5% CF 1/8
002120R0 20 ohms 1% 1/3 watt
00104700 470 ohms 5% CF 1/8
00106800 680 ohms 5% CF 1/8
00212000 200 ohms 1% 1/3 watt
00104700 470 ohms 5% CF 1/8
00212670 267 ohms 1% 1/3 watt
00106801 6.8K 5% CF 1/8
001133R0 33 ohms 5% 1l/4 watt
001051R0 51 ohms 5% CF 1/8
003439R0 39 ohms 2 watt Resistor
Trim Resistor
00212000 200 ohms 1% 1/3 watt
00103101 1.3K 5% CF 1/8
05101002 10K Potentiometer
Trim Resistor
003439R0 39 ohms 2 watt
05102001 2K Potentiometer
001051R0 51 ohms 5% CF 1/8
Trim Resistor
00102401 2.4K 5% CF 1/8
002120R0 20 ohms 1% 1/3 watt
00104700 470 ohms 5% CF 1/8
00106800 6B0 ohms 5% CF 1/8
00212000 200 ohms 1% 1/3 watt
00714700 470 ohms Chip Resistor
00212670 267 ohms 1% 1/3 watt
00106801 6.8K 5% CF 1/8
G01133R0 33 ohms 5% 1/4 watt
001051R0 51 ohms 5% CF 1/8
00105101 5.1K 5% CF 1/8
Trim Resistor
Trim Resistor
00105101 5.1K 5% CF 1/8
00212431 2.43K 1% 1/3 watt
001022R0 22 ohms 5% CF 1/8
001022R0 22 chms 5% CF 1/8
00101000 100 ohms 5% CF 1/8
00010250 0 ohms Resistor (Jumper)
Trim Resistor
10791006 100 mfd @ 3 Volts (Tantlum)
10151003 .1 mfd
Not Used
10151003 .1 mfd
.1 mfd

10151003



page 2 of 3

PARTS LIST - MODEL 777 ECO No. 1001
Ident. Qty. Part Number Description
Ccé Not Used
Cc7 8 10151003 -1 mfd
c8 8 10151003 .1 mfd
C9 8 10153303 .33 mfd Ceramic Mono.
Cl0 8 10151003 .1 mfd
Cil 8 10103p00 3 pfd NPO Ceramic Dis
Ccl2 8 10151003 .1 mfd .
C13 Not Used
Cl4 Not Used
Cl5 8 10151003 .1 mfd
C1l6 Not Used
cl7 8 10123p30 3.3 pfd Ceramic Chip
Cl8B B 10151003 .1 mfd
Ci9 8 10151003 .1 mfd
c20 8 10153303 .33 mfd Ceramic Mono.
c21 8 10101P00 1.0 pfd NPD Ceramic Disk
c22 3 10614706 470 mfd @ 10V
c23 Not Used
C24 3 10522206 220 mfd @ 16V
c25 3 10614706 470 mfd @ 10V
C26 Not Used
c27 3 10522206 220 mfd @ 16V :
c28 8 10781006 100 mfd & 3 Volts (Tantalum}
c29 8 10108P00 8 pfd NPO Ceramic Disk
€30 8 101210021 1600 pfd Chip Capacitor
C31 Not Used
c32 8 10151003 .1 mfd
Dl 8 20202835 2835 Schottky Diode
b2 8 20004448 1N4448 Dicde
D3 8 20004448 1N4448 Diode
D4 8 20202835 2835 Schottky Diode
DS 8 20004448 1N4448 Diode
D6 g 20004448 1N4448 Diode
Ll 1. 15000000 Power Inductor
L2 1l 15000000 Power Inductor
L3 1l 15000000 Power Inductor
L4 1 15000000 Power Inductor
L5 8 14000000 Large Bead
L6 8 14000000 Large Bead
Ul 8 3020F411 LF411CN
U2 B 3020F411 LF411CH



PARTS LIST - MODEL 777

ldent.

o3|
02
03
04
Q5
06
07
08

2

o om®daomwom®e

LS TP R I T I S e L ol o N

NN

Part Number

Page 3 of 3

ECO No. 1001

Description

2420T92ZR
2420R92R
2420T93R
24003904
2420T92R
2420R920
2421Q320
24003904

40000008

401006000
40100001
406100002
40100003
40100004

40200000
40200001
40200002
40200003

40200004
40200005
40200006
40200007

40950002

58000102
58000103
58000104
58000105
58000106
58007770

65025603
65044003
65144006
65944004

73010000
73010001

85007770

BFTY92R S0OT-23 Transistor
BFR92R SOT-23 Transistor
BFT93R SOT-23 Transistor
2N3904 Transistor

BFTY92R SOT-23 Transistor
BFR92 S0T-23 Transistor
BFQ32 S0T-37 Transistor
2N3904 Transistor

8 Pin DIP Socket

RF Connector
Lock Washer
Solder Lug
Spanner Nut
Shield

NIM Connector Block

NIM Connector Shield
NIM Elect. Pin

NIM Female Guide Pin

NIM Male Guide Pin

NIM Male Guide Pin Gold Plate
$4 Lock Washer Gold Plate
$4-40 Hex Nut Gold Plate

Solder Lug

Back Panel

Right Side Cover
Left Side Cover
Square Rail
Round Rail
Front Panel

2-56 x 3/16" Flat Head Screw

4-40 x 3/16" Flat Bead Screw Undercut
4-40 x 3/8" Round Head Phillips Screw
4-40 x 1/4" Fillister Head Screw

stand Off
Captive Screw

Model 777 Printed Circuit Board





